Answer Sheet: Maths Assessment Year 6: Fractions - Section A w

question answer marks notes

1. Use common factors to simplify fractions; use common multiples to express fractions in the same
denomination.

S5 2
20 %
o 2
q 3
q 3
a T . 5
A 1
8 2
2 L
10 5 Award one mark for
2 1 each correct answer.
) = T
2 1
8 = 4
9 6
b = = 5 5
=N _ 1
15 - 3
10 _ S
12 - 6

2. Compare and order fractions, including fractions > 1.

1 1 3 1 1 3
= - Z 1< 15 14
smallest largest
1 1 2 5 1 1
= 3 e & = | 13
smallest largest Award one mark for
4 each set of fractions
- -+ = = < + correctly ordered.
smallest largest
A 3 A a2 N 12
8 4 4 8 4 8
smallest largest
<>or=
1 4
3 < %
3 = £
6 - 2
3 1 Award one mark for
0 > = 6
each correct symbol.
1 whole = <+
3 N
% > )
5 n
6 < 2
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3. Add and subtract fractions with different denominators and mixed numbers, using the concept of

equivalent fractions.

<+ + <5 =T whole (also accept 1)
13+ 2=21+
a %+1%=2+ 5
Trigeny
25+ =3+
3 _1_1
L T2 4
14 -2 =1whole (also accept 1)
o | [ a-w ;
2+ -1&5=1%
ERE RS

Award one mark for
each correct answer.

4. Multiply simple pairs of proper fractions, writing the answer in its simplest form.

2 1 _ 1
A 3
R £
3 2 03 T % 4 Award one mark for
LI a1 each correct match.
2 4 = 8
6 1 1
BX3 3
1 1 _
W X7 T3
R I
b 2 3 T 6 4 Award one mark for
VA I each correct answer.
5 2 10
2 1 _
T X7 T3
5. Divide proper fractions by whole numbers.
4 _ 1
2= >< +
2:6= =+ Award one mark for
a . ) 4 each pair of fractions
5 2= >< - correctly matched.
8 . _ 2
4= 5
i -— - L
4 TV T T4
4 s90=- L
b 4 -8 4 Award one mark for
4oLo- L each correct answer.
6 3
2 .. 1
5 4=
Section A Total: 46
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1. Associate a fraction with division and calculate decimal fraction equi

valents for a simple fraction.

Award two marks for a correct

a 160 +4 =40 2
answer. Award one mark for a
99 + 3 =33 correct method, but incorrect
b 33x2 =66 2 answer.
C 0.625 1
d | =% 1

12

2. [dentify the value of each digit in numbers given to three decimal places and multiply and divide numbers

by 10, 100 and 1000 giving answers up to three decimal places.

420433 Four tenths
824.887 Eight hundredths o
a 975@ Seven thousandths 5 cA(\)A;?gitcl)ynied(rannatirfl?efg.r each digit
56(545 Five tenths
2.262) Two thousandths
17.29 Nine hundredths .
Accept numbers written as words
32161 One thousandth or numerals (e.g. nine or 9). Do not
b 55.324 Three tenths 5 accept tens, hundreds or thousands
67.13 One tenth in place of tenths, hundredths or
98.89 Nine hundredths thousandths.
| 231 | x [ 10000 | =] 23100 |
| 46 | x| 100 |=[ 4600 |
c || 446 | x| 100 |=] 446 | 5
| 78 | x| 10 |[=[ 7871 |
l 782 | l 1009 | - l 7825 | Award one mark for each box
| 15.4 | : | 10 | _ | 154 | correctly filled.
| 429 [+« 00 |=] 429 |
d || 1892 | +] 1000 [=[ 132 | 5
| 3988 |+ 100 |=] 3988 |
| 867 |+ 10 |=] o867 |
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3. Multiply one-digit numbers with up to two decimal places by whole numbers.

101.4

18.64

4. Use written division methods in cases where the answer has up to

two decimal places.

Award two marks for a correct
answer. Award one mark for

a 2916 0r 29.75 2 evidence of a correct calculation, but
incorrect answer.
Award two marks for a correct
answer. Award one mark for

b 89.25 9 evidence of a correct calculation,

but incorrect answer.Do not accept
answers where the remainder has
not been written as a decimal.

5. Solve problems which require answers to be rounded to specified degrees of accuracy.

a 83 boxes 2
b 10 pieces of fabric 2 Award two marks for a correct
answer. Award one mark for
evidence of a correct calculation, but
¢ | Tbags 2 incorrect answer.
d 3 cakes 2
6. Recall and use equivalences between simple fractions, decimals and percentages, including in different
contexts.
Fraction Decimal Percentage
- 0.25 25%
- 0.5 50%
3 % 075 75% 6 Award one mark for each box
> correctly completed.
= 0.4 40%
2 or+ 0.2 20%
< 0.66 66%
b 25% 1
C 90% 1
d 20% 1
Section B Total: 49
Overall Total: 95
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